Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.17-18.dwg

s L) !'3:'..“;\
g |

;3 SR,
S
S

\

\
A

¥

| TRINITY GLASS
INTERNATIONAL

(ST

GLAZED FIBERGLASS

DOUBLE DOOR
w/ or w/out SIDELITE(S)
"IMPACT"
INSWING / OUTSWING

GENERAL NOTES

This product has been evaluated and is in compliance with the 7th Edition (2020) Florida
Building Code (FBC) structural requirements excluding the "High Velocity Hurricane Zone"
(HVHZ).

Product anchors shall be as listed and spaced as shown on details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

When used in areas requiring wind borne debris protection, this product complies with FBC
Sections 1609.1.2 & R301.2.1.2 and does not require an impact resistant covering. This
product meets missile level "'D" and excludes Wind Zone 4 as defined in ASTM E 1996 and
FBC Sections 1609.1.2.2 & R301.2.1.2.1.

For 2x stud framing construction, anchoring of these units shall be the same as that shown
for 2x buck masonry construction.

Site conditions that deviate from the details of this drawing require further engineering
analysis by a licensed engineer or registered architect.

TABLE OF CONTENTS

SHEET# |DESCRIPTION
1 Typical elevations, design pressures & general notes
2 Door panel details

3 Sidelite panel details

4 Elevations

5 Horizontal and vertical cross sections (2x buck
6

7

8

9

Horizontal and vertical cross sections (1x buck
Horizontal and vertical cross sections (Direct to Masonry)
Horizontal cross sections

Vertical cross sections

10 Buck anchoring

11 Frame anchoring

12 Components

13 Bill of materials

[=— 74" MAX. O.A. FRAME WIDTH ——|

= =
(O] o
w i
— E .
W

S0 %9
<Z <=
23 2=
o w
X Z < 2
<= <O
—E z\.—
N x

/

/

15.5" MAX.

105" MAX. O.A. FRAME WIDTH

FRAMEWIDTH | Tﬁ 74" MAX. FRAME WIDTH ———’

/! / / Y
5 5
= 2
o %9
£ £3 O o] %X O
<= O
=" 2% o
N X
/ /
/4// // // 14//
DESIGN PRESSURE (PSF) | DESIGN PRESSURE (PSF)
CONFIGURATION INSWING OUTSWING
POSITIVE | NEGATIVE | POSITIVE | NEGATIVE
XX, OXXO +40.0 -45.0 +45.0 -45.0

(YLLLET]
\\\\\\ ,lll,
S e W
N » ~e. //
\«. ° (s 0
SO X
SQ- ._%,, 2
‘w3 ‘.'-._‘:0.3
. tZ= . Lom
m.\j o El'°=(/). — -
oo =z '.'\\'_ o0 m
oA 3 TOS Z 050
- ) OS> STt
v . : > FE S0 .
Z,°  eceodbe-* N -4 00o
%, S~ D> hz
‘2 W @ .-
gy d§ave
N ON -0
m% O x29
2 E, Z8,%
Nlg Eoa 500
S|g 8y 2gsn
NlEgvw 5%9cnm
W &+ DoDL
= be o
— - .
Bisf
<|§ 9"
8 su
o 2
%)
01
=
= 2
[ o
= 2
B =L
%) o=z
5 R = Y
5 <©
o |3 S
= 3
t L L"'U)
= al
= Q :t]‘x
o 5SS
3) X
S o =0
= L
o g £
2
& &
>_.
(43
n
z
o
n
o
=
<t
o
o
=z

DATE: 4/15/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL-25575.17

SHEET _1 oF 13




Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.17-18.dwg

031" —=| |=— ebea —=| j=—0.25"
37 EXTERIOR 317
* y o 1.1 oo \ . TOP RAIL
w0 o ] ///%COMH
N § U £ Q‘ —
Iy, \ ‘ - ! - \
* ﬁ% il e / \\\
\ / 2 TOP RAIL
STILE CAP HIN(GE S)TILE INTERIOR LATEC LS)TILE ST;;E/ cé,)t\P = REINF(()LRVCL;EMENT
PVC) LVL =
( @ HORIZONTAL CROSS SECTION
2
FOAM CORE — 1|
35.75" MAX. OAM CO s
PANEL WIDTH
| 2075'MAX
D.L.O. WIDTH
4
| Y T
/10
v \2/ g
= EXTERIOR WU INTERIOR
S /A
— T 9 1/
T O ;
O w . Q
¥ = g =
g S X 3 e
[
¥ e El=] Iy
< <
<
s 2
SEE HARDWARE g
TABLE FIBERGLASS "
SN~
7/ =< & e
// £33 BOTIOM RAIL
S REINFORCEMENT
RS * 2 (LvL)
2 #8X 1-1/8" SELF | 9 g
THREADING SCREW i — ~
(TYP.) 'MANUFACTURER | ~ MODEL - i N BOTIOM RAIL
40 )-GLAZED DOOR PANEL kwikser | KNOB: SIGNATURE SERIES 4 (COMP)
Fiberglass DEADBOLT:  SIGNATURE SERIES (980) ~—1.75
cHAE | KNOB  FSERIES /" 2"\ VERTICAL CROSS SECTION
DOOR SKIN: 0.075" MIN. THK. FIBERGLASS DEADBOLT:  B40 SERIES W

CORE MATERIAL: POLYURETHANE FOAM

I/,

Wity
SCHpy,

W\
W
A ‘?-,,

N
S
N

%,
7
»

.
.

.0.-..'./0
8g

No. 43409

e
o
o
o
.
.
i

Sy
\
e
S
Ny
el

0
[¢}]
0
.M
o™
z
£ N
¥ pL
.\"
E don
Z 00
<Lm
= .
- Sges
+ g .2
npagy §aoe
O ®
‘B% 0><§..g'
— |2 E, Z8,%
~Nis £E@2 B o
o ja £0 H . el
Ne gy 5024
St ¢ moaic
U 5
ElE o9 S
<|E 37
g su &:
o 2
~ i
5 <<
wy [
g —
> &g
&) §<Z(
b i o-
= 2
g (9S8
.e O
5"‘ x Q
3 o
L
0. s
>_
m
%)
=z
o
]
o
o
<
a
o
=z
DATE: 4/15/21
scate:  N.T.S.
DWG. BY:  RW
CHK. BY: LFS
DRAWING NO.:
FL-25575.17

SHEET 2 oF 13

© 2021 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL. 25575 (2020)\FL-25575.17-18.dwg

13.75" MAX.
PANEL WIDTH
675°MAX ||
D.L.O. WIDTH
P
| /
74

~

/

1.58" G1)\G2 EXTERIOR " 39"

~—1.75" ——

]u

1.
7

l~— 1.62" ~—-'

STILE INTERIOR
(LVL)

@ LITE FRAME

@ HORIZONTAL CROSS SECTION
3

Al —=  |=—7/16" GLASS BITE

* n
INTERIOR —— 1"O.A. THK GLASS

/ 1/8" ANNEALED GLASS
~ _— 0.090" SAFLEX PVB INTERLAYER
\ T 1/8" ANNEALED GLASS

. ‘\s AR SPACE
1/8' TEMPERED GLASS
EXTERIOR

#8 X 1-1/8" SELF ST. STEEL SPACER
THREADING SCREW ~ #

(TYp) O GLAZING DETAIL *¥DOW 995 STRUCTURAL SEALANT
DUAL GLAZED

/L
7/
Y

#8 X 1-1/8" SELF

THREADING SCREW

78.75" MAX. D.L.O. HEIGHT
P
d

95" MAX. PANEL HEIGHT

. SIDELITE PANEL
Fiberglass

DOOR SKIN: 0.075" MIN. THK. FIBERGLASS
CORE MATERIAL: POLYURETHANE FOAM

7.75" MAX,
O.C. {TYP)

(TYP) 7/16" GLASS BITE

INTERIOR — 1" O.A. THK GLASS

1/8" ANNEALED GLASS
~~_—0.090" SAFLEX PVB INTERLAYER
2 1/8" ANNEALED GLASS
\% DECORATIVE GLASS
\A!R SPACE

5/32" TEMPERED GLASS
DURASEAL SPACER

/f
144

EXTERIOR

#8 X 1-1/8" SELF
THREADING SCREW ¥
(TYP.)

() GLAZING DETAIL
TRIPLE GLAZED

\\\\“\

\ x 1,
§& ."..-00. ..... ..M@/,, o
R K . (A
TOP RALL S8 . &z B
(COMP) SF g AFERE
Z0g s i85 ner
:\v 4 95.‘9 6o w
’, "' o Q\ Z .(—, [+, »
- - -~ .. o Q\\ g L .
I - “, & S3eg
- %, W goez
i 1y, » RS
~ 1 e QM -3
— & O 2
* v B O x2 8
~ 12 €y Z8o%
S8 £o 8 [ cuw
NIE Gy 502F
st @il
2l P
<|E 8"
g cul Q§
o Jo
ot
- =
s <
£ S
[
0 e
G1)(G2 2 |y E
) o 35
- @l w
= |95
A\ s o 8
8 of »©
o =
EXTERIOR INTERIOR S iz
[\ [a
# &
193]
=
Q
FIBERGLASS 7%
SKIN i
fn'ed
o \\ R
A\
¥/
R
| T roamcore =
- o BOTIOM RAIL
DATE:
? (COMP/PVC) e 4/ :ﬂr/ 32 !
L 1.75" —= DWG. BY: RW
. CHK. BY: LFS
/2 "\ VERTICAL CROSS SECTION SRR O
\3/ FL-25575.17

T

sHEET _ 3 oF 13

© 2021 R.W. BUILDING CONSULTANTS INC.



‘ON| SANVLINSNOD DNIGTNG M8 1202

£186 "ON Ansibey 3Idad SNOISIATY TN ~
LBLE'6S9°CLE 'ON 8uoyd Ad A1va TONI—| - ™
S6SEE T4 ‘OBUIPA ‘OFZ xog "O'd \Sv SNOILYAT LA J|v W % ol m_
"ONI ‘SINVLINSNOO ONIaTNg @ ‘ATBNISSY d0 ldvd o) R 51
/zf:::::\\\ ~ = . 2 Q 4~
S altios . O, IPIWUDS 4 uopuk 1.ANI SSVT9 ALINIML @ N ERE-
ll&/ < NOWOYy ...&\\ h < 213 L X
N . :LONA0¥d S 313558 &

- % 80¥E¥ON 2~
- — o ,’
N S
%, o AR

OSIOmW W~

a4
SN/
(2
N5/
&,
&

73
\SNsNT/

730
NN
(2
\3/

D

BmpgL-LL'52552-14\(0202) 52552 4\sbuimelq ‘D\G L5562 - Td\s{eroiddy 1onpold epuoid - VALNINYINYAd S5819 Aun \ss1D\NZ



Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020\FL-25575.17-18.dwg

®

. P N - ~
. ) " ¥ ) qq a . /
e 9 T A < - — - =
. < S o E . a’

-9 o ’ BEERY = S B -9
e T SRR SR
. 9 ’ B A
- e e . . )
e et - a T . v

[T

<3 ..Z... o=
» SE
: Yo
® == S0
:?:':'_\ ‘
(D e
SEE
EXTERIOR INTERIOR
W
m VERTICAL CROSS SECTION
W Outswing shown - Inswing also approved
1-1/4" MIN.
EMB. (TYP.)
b 0.15"
v ' ! |e— C'SINK
IR y (TYP.)
. :Il/fl/!//lllllll’ll/ ‘w w o @ INTERIOR
© LIRS
- 1T SN ~
. NS

EXTERIOR

% 4©6;

/ 1"\ HORIZONTAL CROSS SECTION
\Sj Qutswing shown - Inswing also approved

i

1-1/4" MIN.
EMSB. (TYP.)

NOTE:
1. ltem #26 located 6" from each end
plus 5 more equally spaced {7 total).

@ i
D Za
SGE
EXTERIOR INTERIOR
A\Y
/4 \ VERTICAL CROSS SECTION
W Outswing shown - Inswing also approved
1-1/4" MIN.
EMB. (TYP.)
L
0.15"
C'SINK o] [t
(TYP.) v
INTERIOR
2 )
EXTERIOR SEE NOTE 1

()

m HORIZONTAL CROSS SECTION

i

%

W Outswing shown - Inswing also approved

‘‘‘‘‘

April 15, 2021
Documents Prepared By:

Lyndon F. Schmidt
P.E. No. 43409

Ry

P.0O. Box 230, Valrico, FL 33585
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

FBPE Registry No. 8813

TRINITY GLASS INT'L
HORIZONTAL AND VERTICAL
CROSS SECTIONS (2X BUCK)

PART OR ASSEMBLY:

PRODUCT:

REVISIONS

NO. DATE

bae: 4,/15/21

scALE:  N.T.S,

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—-25575.17

SHEET _ 5 oF 13

© 2021 R.W. BUILDING CONSULTANTS INC.




W {1y
\\\\ .:.k“. . &’/,,
A N
SO Yz 8
F F g Sy 3 L%’E B
=T & g 8. 40"
S H g2 oy
) | ELC W 8Ty o2
.4 e a4 : < = o Y NSE dow
ST : S e A, AL SRS 2800
) 4 - a° : - ‘ 298 /,}'.,.. o %\\ ""58’
< o v = ) & ) . ) . ; a /, oeeda \\ 51>§
_ o . S, 4 @ e L4 /,/, \\\\ o0
A/© Z o 1/@ Za H ‘-': % g 2 g’
= 0. — =
SE 3 5B a5ty
S Ty SlE%2 3LEE
T = T3 —le v,
o Blisf
NOTE: 2|2 52
: 1. ltem #26 located 6" from each end 8 glx! @<
7 plus 5 more equally spaced (7 fotal). o e
—
35
= =&
EXTERIOR INTERIOR @ EXTERIOR \\ INTERIOR E =~
W =
a g:
$
/"3 VERTICAL CROSS SECTION (4 \ VERTICAL CROSS SECTION 2 2
w Outswing shown - Inswing also approved \é/ Outswing shown - Inswing also approved g 1%1 5§
. & <l Ry
" 1-1/4" MIN. 51F x %8
1-1/4" MIN. EMB. (TYP.) 2 o TS
EMB. (TYP.) 2 <
I~ . %
C \% /\/
) " vp - < - :
td ‘k v v .
ESSAMALRLMWANY | @ B o
e o INTERIOR @ z
C | INTERIOR | o
o . v E'
Sy / . < [\
7 » { -
*\\\\‘\"\‘X\.\\\\\,\}X.\,\‘\‘ AN % ” .
A I SN\ o z qf
. J 2 | L IR Y
R Vr { \\\\ .
& - ~ H
v . LAY v < . <C
NI . . : a
J Vv +
@ EXTERIOR S
EXTERIOR
SCALE:  N.T.S.
1"\ HORIZONTAL CROSS SECTION /"2 "\ HORIZONTAL CROSS SECTION pve. B RW
w Outswing shown - Inswing also approved w Oufswing shown - Inswing also approved CHK. BY: LFS
DRAWING NO.:
FL-25575.17

SHEET _6 oF 13

Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.17-18.dwg

@ 2021 R.W. BUILDING CONSULTANTS INDG.



1" MIN EDGE

FURRING

DISTANCE

SHEET

ROCK
NOTE:

1-1/4" MIN.
EMB. (TYP.)

EXTERIOR

INTERIOR

/~3"\ VERTICAL CROSS SECTION

\U Outswing only

1-1/4" MIN.

EMB. (TYP.)
SHEET

ROCK \
FURRING

v

<

1" MIN EDGE
DISTANCE

Al \és

~

<

®24

m HORIZONTAL CROSS SECTION

w Outswing only

FURRING

’ A
INTERIOR "i. |

i

SHEET
1" MIN EDGE ROCK
r s DISTANCE
==
¥ ,
1. ltem #26 located 4" from each end i ‘ /
plus 5 more equally spaced {7 total). : /
c /
K 3
EXTERIOR \\ INTERIOR
/4 "\ VERTICAL CROSS SECTION
w Outswing only
1-1/4" MIN.
EMB. (TYP.)
SHEET
e / ROCK
5 FURRING

\

\v\«

EXTERIOR
SEENOTE 1

7.

AL

1" MIN EDGE
DISTANCE

m HORIZONTAL CROSS SECTION

\7/ Outswing only

April 15, 2021
Documents Prepared By:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FlL. 33595

BUILDING CONSULTANTS, INC.
P.O. Box 230, Valrico,
813.659.9197

Phone No.:

TRINITY GLASS INT'L
ORIZONTAL AND VERTICAL CROSS

PART OR ASSEMBLY:

PRODUCT:

H
BY | "SECTIONS (DIRECT TO MASONRY)

NOJ DATE

DATE: 4/15/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL-25575.17

SHEET _7 oF 13

ZA\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.17-18.dwg

FBPE Registry No. 9813

REVISIONS

© 2021 R.W. BUILDING CONSULTANTS ING.



Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.17-18.dwg

NOTE:
1. Hem #26 located 6" from each end
plus 5 more equally spaced (7 total).

INTERIOR

\

ANy

°90®

m HORIZONTAL CROSS SECTION
w QOutswing shown - Inswing also approved

”vgmm»wu\ z

INTERIOR 53

A\

NOTE 1

2"\ HORIZONTAL CROSS SECTION
w Outswing shown - Inswing also approved

(40) H @

.

EXTERIOR L
16

m HORIZONTAL CROSS SECTION
\8/ Outswing shown - Inswing also approved

\‘ ’/
S e 4' 2,
N 1972 o
SO A X o
Sy 8 29z 8
EI:'& § 0. A=0 ™
=5if I pEZEE
- S :'Z:..“*O)F)
292 2 0S¥ .o
Z o AN 00 m
- . »* Q\ Z.QO'JO)
’/ )"o. .. Q\\ ;fhlﬂ .
v Tl < L4 0©0o
/// N 2>z
‘s, W 25%
1y " §8°2
& ON 2
- O O
o U O XzZzoe
— |8 Ee Z8,F%
ra 1]
Sl se 9 .cw
SIfan 5928
w ¢ (22 30« Is M T8
= la
pr— - -
Big =
<|5 3
g Zu
8 2o
)
=
o
=
o |
E e
=< %)
wn
2 2
3 sl &
3] al S
=
& o] I
& <
= 135
x < o
.
5 of N
=t o x
f]
2l |ET
& x
>_
m
0
z
O
0
x
L
<
o
o
=
DATE: 4/15/21
scale:  N.T.S.
DWG. BY: RW
CHK. BY: LFS
DRAWING NO.:
FL—-25575.17
SHEET 8 oF 13

© 2021 R.W. BUILDING CONSULTANTS INC.



CON| SANVYLAINSNGOO aNIgTing "My 1202 @

£186 'ON Ansibey 3dgi ; SNOISIAZY N
L616°6G9°CLE ON euoud Ag 31va [ON] — Sim
cESCe 4 ‘OOMIBA ‘OTZ X038 O d \§ SNOILO3S SSONO TWOILYIA Slalzlel o .m_
"ONI ‘SINVLINSNOD ONIGINg @u "ATBNISSY d0 Livd 0 W .58
N 2 VIig
60%Sy "ON "3'd * (8] Ele O _
PIUYDS g UOpuAT TANI SSYI9 ALINIML i w R m
10naoYd HAEIHHEE &
(dAL) "gw3
NIW B/ -1
('dAL) "gw3 &
NIW .y/1-1 H
Z
N >
3 IR Q
v o <
s O
< [ ¥4 ]
‘ - o
o9 -l 7<)
v . m mnv
[« i O
z | 2 3
i v £ =
= “ 9]
z . 98 ®) =
v =
(e mm & S
- A < u‘..w, M wrfo~
~ S v o2
, g =z
qa ; : m .m
. v v v O
S g ™|o
m | q p ry N
R
("dAL) “aw3
‘NIW B/ 1-L
{274
Q
oL
(dAL) a3 — m_
NIW P/ 1-L - <
)
oo
Q
]
Z 2
o}
oL
O
=
S S N
= i &S
x 3 = S
i 2l =
= (]
&2
Ol
3=
Y2
= £|2
[ 3T
e}
< qA
[s74 O~ <
O
&
5
Ll

Bmp'gL-£1°52552-14\(0202) S255T Td\sBuimesq D\G 2552 - T4\sjencsddy 1onpoid epuiojd - YALNINVINY3d Ssel9 A \sualONZ



"ON| SANVIINSNOD 9NIQTNE MY L30Z O

£186 ON fusiboy 3dad SNOISIATY
L616°669°CL8 ON suoud
CBGLE 14 ‘ODUIDA ‘0€Z xog "O'd

*ONI ‘SINVLINSNOO 9ONIgiNg

Ad 3ivd JON

ONIMOHONY Xond
SATBNISSY 0 Lyvd

3—
Li
(]
O_

B

X
0

RW
LFS

Mg

80vCHy ‘ON "I'd
IPIYDS 4 Uopukl

N.T.S.

FL-25575.17

TNl SSVIO ALINIdL
11oNa0yd

DATE: 4/15/21
DRAWING NO.:

DWG. BY:
CHK. BY:

SCALE:

(dAL) XYW
"D'0.91

JAMBS

3" (TYP.)

3" (TYP) ——
OXXO

HEAD & JAMBS
{TYP.)

(dAL) "X¥W
‘D'0.91

4"

T (TYP)

$

2X BUCK ANCHORING

XX

3" (TYP.) —=

4" (TYP.) ——]
HEAD & JAMBS
(TYP.)

T

/

2X BUCK
(TYP.)

MASONRY
(TYP.)

Bmp'gL-£1'62552-14\M0202) 52552 1\sBuimeld D\G 2552 - T4\sjenosddy 1onpoid eprojd - YVALNINVINY3 SSelD Auu\swslD\NZ



Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020\FL-25575.17-18.dwg

* NOTE: FRAME CORNERS ATTACHED w/ #8 X 2"

COURSE THREAD DRYWALL SCREWS: (3} @ HEAD,

(3) @ INSWING SILL & (2) @ OUTSWING SILL (TYP.). =
G JAMBS Soy
* £YP) | e ( T$P — - £ (YP) —m] | 3" (TYP) - 2 o
\ 4 (TYP) —] - ‘ ‘ 4" (TYP.) —— 4 (TYP) _>' - 4 o
(P lt“jl 1 L1 | HL::JH 11| L
Il - B 1 —]
A A A llLA
:: I ; -
I o & 1 o
2X BUCK f o i CE
— I — I I —
1X BUCK i 2X BUCK : : S 2
DIRECT TO I =3
wos | ol
- — f— . :- [1e e 5
- e aw | B3 ¥
' 1 . =0
:: HEAD & JAMBS t _ B8 S
1 - (TYP.) 1 g o
e 1 - i - = =
1 I ) K
] GE I z
“ o' E ” 2, P o 14
I o= - I GE i)
— I — 0% I —| CE e
| 73 | s/
s
I I ~
I - H SEE HINGE DETAIL SEE STRIKE PLATE
. i — H - (TYP.) DETAIL
i I mvP)
SILL 515 SILL B 1B o
/C> 1 I I L
* XX OXXO HINGEJAMB  ASTRAGAL
\
A\
ASONRY DIRECTTO
MASONRY DIRECT TO
1X BUCK @ MASONRY MASONRY @>
N\ 1X BUCK N\ 1X BUCK ‘
2X BUCK ‘ A\
2X BUCK 2% BUCK \W
\\ Yol 3 A :‘Z i sl \}\
_ _ — P =4 @é. H S %:‘ H*Sh— | i
TRy 7 O ' °\ 2E ) LS (Ol
ASTRAGAL ‘/ ‘/
VIEW A-A VIEW B-B VIEWB-8 BOLTHOLE @ N @ \ v
al strike @ head Astragal strike @ sill Astragal strike @ sill
Astragal sirke @ hea nswing Suiswing HINGE DETAIL HINGE DETAN STRIKE PLATE DETAIL

April 15, 2021

P.O. Box 230, Valrico, FL 33595
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Lyndon F. Schmidt
P.E. No. 43409

Ry

FBPE Registry No. 9813

TRINITY GLASS INT'L
FRAME ANCHORING

PART OR ASSEMBLY:

PRODUCT:

BY

NOJ DATE

REVISIONS

DATE: 4,/15/21

SCAlE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL.—25575.17

sHeer 11 oF 13

© 2021 R.W. BUILDING CONSULTANTS INC.



Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL-25575.17-18.dwg

— 1.25" ‘-‘——
H
&

! 244 !

( : ) HEAD & JAMBS
FINGER JOINT PINE

|

HEAD & JAMBS
PVC

ph/ S
‘ 5.25"
| | 2
? , 3.13" | S

| 5.62"

HEAD & JAMBS
FINGER JOINT PINE

@ INSWING THRESHOLD

33 OUTSWING THRESHOLD

4.57" —————

High-dam

5/16" @ STEEL SLIDE BOLT
(9-1/2' LONG) @
EACH END

RETAINER

2.65"

ULTIMATE HURRICANE ASTRAGAL

Endura Products

o SILLKEY (RIGHT)
SILLKEY (LEFT)
4.5¢6" - 122" |=— 4.56"
2.44" |
1 ] O
o o [ $ ,v/ o o
— —

- 2.01" —]

0.08"

<::) SIDELITE SPACER
Inswing

1.32"
0.31" ——»I i
0.083

SIDELITE SPACER
QOutswing

1.50"

April 15, 2021
Documents Prepared By:

Lyndon F. Schmidt
P.E. No. 43409

Ry

P.O. Box 230, Valrico, FL. 33595
813.659.9197

BUILDING CONSULTANTS,
Phone No.:

FBPE Registry No. 9813

TRINITY GLASS INT'L
COMPONENTS

PART OR ASSEMBLY:

PRODUCT:

BY

REVISIONS

NOJ DATE

oaTE: 4/15/21

SCALE:  N.T.S.

DWG. BY: RW

CHK. BY: LFS

DRAWING NO.:
FL—-25575.17

SHEET 12 oF 13

© 2021 R.W. BUILDING CONSULTANTS INC.




Z:\Clients\Trinity Glass PERMANENT\A - Florida Product Approvals\FL - 25575\C. Drawings\FL 25575 (2020)\FL.-25575.17-18.dwg

BILL OF MATERIALS

ITEM # | DESCRIPTION MATERIAL
A | IXBUCK (SG >=0.42) WOOD
B | 2XBUCK (SG >=0.42) wWOOD
C | 1/4"MAX. SHIM SPACE -
D |1/4"X 2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
E MASONRY - 3,000 PSI MIN. CONCRETE CONFORMING TO ACI CONCRETE

301 OR HOLLOW BLOCK CONFORMING TO ASTM C90

F{1/4"X3-3/4" PFH TW CONCRETE SCREW STEEL
G | 3/16"X 3-1/4" PFH ITW CONCRETE SCREW STEEL
H |3/16"X2-1/4"PFH TW CONCRETE SCREW STEEL
K | 1/4"X2-3/4" PFH DeWALT CONCRETE SCREW STEEL
L | #10X2-1/2"PFH WS {1.15" MIN. EMBEDMENT) STEEL
P |1/4"X2-3/4" PFH DeWALT OR ITW CONCRETE SCREW STEEL
] HEAD & JAMB (FINGER JOINT PINE: SG >=0.42) WOOD
2 | HEAD & JAMB PVC
3 | HEAD & JAMB ({5.25") (FINGER JOINT PINE: SG >= 0.42) WOOD
7 | WEATHERSTRIP FOAM
8 | DOOR BOTTOM SWEEP PVC
9 | #6 X 1-1/4 PFH DRYWALL SCREW STEEL
11 | #9 X 2-1/4" PFH WOOD SCREW STEEL
16 | LATCH STRIKE PLATE STEEL
17 | DEADBOLT STRIKE PLATE STEEL
19 | SILLKEY : ABS
22 | #8 X 1"FH WOOD SCREW STEEL
24 | #9 X3/4" PFH WS STEEL
25 | #9 X1"PFH WS STEEL
26 | #10X2"PFH WS STEEL
27 | #8X2-1/2" PFH WOOD SCREW STEEL
28 | #10 X 3" PFH WOOD SCREW STEEL
29 | 4"'X4"HINGE STEEL
31 | INSWING THRESHOLD ALUMINUM w/ COMPOSITE SUBSTRATE ALUM/ COMP
32 | SIDELITE SPACER - INSWING PVC
33 | OUTSWING HIGH - DAM THRESHOLD ALUMINUM w/ COMPOSITE SUBSTRATE ALUM/ COMP
34 | SIDELITE SPACER - OUTSWING PVC
40 | DOOR PANEL -
50 | SIDELITE PANEL -
53 | ALUMINUM ASTRAGAL ALUM
54 | ASTRAGAL STRIKE PLATE STEEL

\\\\|llllllg,,
\) /,
\\\\\ ..:E“" 4/,/,
SA 17 o
< \Q 2 SBe B
ISy 3 eV zn
=Xi® 3 8.2z2"
Zoid < ES=Zpy
ZMy g &6y .22
Zon foSTEgom
AN - £22°
%, 2 ] S 588
,’/ . .PWD \\\ D27 mZ
1y A\ 265
JUT I ogn ok
2 ON - 0
© ﬁ o é% o
5|t Ea B0,
SIE8Y 2gs8a
NP el S502h%
w3 ¢ Dook
—le
AP §
<t ©
8 Tu
8 Xd
-1
3 "
= <
o
Sk
O
= -
z |33
55 |y
3 e}
!...
o) m
& x
v
vd
o
0
x
CONCRETE ANCHOR NOTES:
. Concrete anchor locations at the comers may be adjusted to maintain the min.
edge distance to mortar joints.
. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors i
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. z
. Concrete anchor table: (=
~ |EMBEDMENT| ADIACENT =
SR B e ke tiehicbiohi BRNG , oAE: 4/15/21
ITW BUILDEX 3/14" 1-1/4" . / A
TAPCON® 1/411 1_"/4“ 2" 4" SCALE' N.T.S.
DeWALT " . . - owe. B::  RW
uuRacons| V4 1-1/4 ! 4 cHk. B:  LFS
WOOD SCREW INSTALLATION NOTES: DRAWING NO.:
. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of FL—-25575.17
wood screws to prevent the splitting of wood.
SHEET 13 oF 13

© 2021 R.W. BUILDING CONSULTANTS INC.





